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% H4X Ei [ BR-ABR(RIEM W E=
BHEHN 6 R 5kg & kg | 1,200 ki
BEHN 108 AR 5kg #a kg | 1,000 18
71 8/9kg =8 1A i kg | 1,350 TE
71 6/7kg =5 1A bS] kg | 1,300 TBE
71 7/9kg W)l 1A b4 kg | 1,300 MEHE TE
71 10/12kg R 1A £ kg | 1,150 TE B
71 8/9kg RIG 1A ) kg | 1,100 FE EE
AR #9302 X5 3kegrd 7 kg | 1,350 EBE
*eAHY) #9150 = 3kg 5= kg | 1,250 K5 EHLeHE
Y05 3/4kg WA 1A ey kg | 4,000 8 IBHE
VAP 2 R 4/5kg & kg | 3,100 FE IEE
* B 4 FE 4kg 78 kg | 4,000 8
TH 2/3kg REAR 1A 5= kg | 2,900 8 E
TR 2kgE FE 1A ) kg | 2,600 57 - Wad
A= 1.3/1.4kg R 1A ) kg | 2,300 EiE
B 3E =5 4kg & kg | 1,500 TiE
g4 2/ARR &5 4/5kg e kg | 1,400 EiE
£S5 Gdn] 100g P P 500
RAIKRZILAS RE 300g (34 # | 1,000
RAILRZILAF = 350g 8 M| 1,450
ERZILAD 21 = 34 # | 1,300
ry+H #9300g tiEE & kg | 1,600
HI)LE 300/400g | LM 1& kg | 2,500




